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Moct Test ‘

—‘
(A) Given series: 36, 100, 196, ?
The pattern is: 6%, 102, 142, 18>
So, 324 is the missing term.

(D)

Only III follow.

D) As,5x(5+1)=5x6=30

Similarly, 7 x (7 + 1) =7 x 8 = 56.

(C) Only the letters in “yVKL” ends with a capital
letter.

D)

C Ball

Plastic —>

Round
Thus the letter which represents round ball is D.

(C) Thee series will be,
3 3¢ 3 3 3!

328 946 Bl 165 227 op] 215383 156

(D) Pattern is:

As, (9+17)2 = (26)* = 676
Similarly, (7+20)%= (27)*= 729
(A) Logic behind the number set-
(33, 46, 12)

(35-12) x2=23 x2 =46
Similarly,

(22,22, 11)

SOLUTION

10.

11.

12.

22-11) x2 =11 x2=22

(A) Number of words in MONKEY — 6
6x6)+-3=12

Number of words in HEN — 3
(3x3)+3=3

Similarly,

Number of words in TERMINALS — 9
9x9)+3=27

So 7=27

(O)First letter of series

E2=G GR2=L1I+2=K,K+2=M
Second letter of series
S-2=0Q,Q-2=0,0-2=M, M-2=K
Third letter of series
O+1=PP+1=Q,Q+1=R, R+t1 =S
So ?7=KMR

(D) Here all the three words are mutual, the best

representation is.

®) © :12—1M—30H

6:%><15—30><5

e:ﬁ—lso
2

20=165-300
14
2

6:67lo
2

0
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13.

14.

15.

16.
17.

18.

19.

20.

21.

(D) This year days 366

366
50—~ = 52 and 2 days odd.
so 52 Wednesday and 1 Jan. - Monday = 2
2 + 2 = 4(1 Wednesday also)
52+1 = 53 Wednesday

BE M B E Z ZL><E
L

M E E B Z Z E

Similarly

> >
A M I X 1 M E Z

(A) 2009 Calender same as 2003 Calender

2003 + 6 = 2009 (same odd day)

B)15+9=24

(D) 50+2.5=20

Similarly, 80 + 2.5 = 32

Hence, option D is the right answer.

B)I—=>x,You—>+,We—>- He >+

8112 He 16 You 2 We 10

=8x12+16+2-10

=96+ 8 -10 = 94

Therefore, the required answer is 94.

A X I M 1

Hence, option B is the right answer.

(D) 6*= 36, (6/2)*= 27

Likewise, 14°= 196 and(14/2)° = 343
+1 43 +4 +5 +1 43 +4 +5

OFFELEe [V EL
+1 +3 +4 +5 +1 +3 +4 +4
1 1 1 1 1 1 i 1
G HKOT J KNRYV

Here we can see that the letter cluster in option
‘D’ doesn’t follow the certain pattern
(B) The symbols moves in the below order —

And also the element at the white circle position
replaced by a new symbol in each step.
Hence, the next figure in the series will be —

22.

23.

24.

25.
26.

27.

28.

29.

a S
f X
(C) (Before fault) (After fault)
NW N NE N NE E
W E NW SE
W S

swW

The directions are rotated by 45 degrees in the
clockwise direction. East becomes South-cast.
Hence, he must read the South-East direction.

(A)
(e e Tangyan

Some tiger can be cat.

(can't say + possibility) always true.

(B) The first and the fourth letter of the word is
a vowel except 'PERU’.

©9:10

(A) A. 82 -49 = 33 (odd)

B. 37 - 17 = 20 (even)

C. 50 - 26 = 24 (even)

D. 101 - 65 = 36 (even)

Clearly, except (82 — 49), the difference in other

cases is even number and so is odd one out.

® E

(C) Except 177, all other are completely
divisible by 7.

(C) As,
12 : 68 21: 119
4x3=12 7x3=21
4x17=68 7% 17 =119

H.O :- F-75, Manglam City, Kalwar Road, Jhotwara, Jaipur (Raj.), Mob. : 9602514332

[19]



| By Deepak Tirthyani Sir |

| Reasoning/aavifam |

30. (D) Drama, sports, law, historian these are
totally different, each related to the different
profession.

No one is related to each other, so these
represented by a different circle.

So, figure given in option D is the correct

answcr.

( - ‘
N2
EXAMWAR

PUBLICATION
www.examwar.com

Deepak Sir
On
Social Media

L %
G, SE e =7

Instagram YouTube Twitter

YOUTUBE CHANNEL LINK
https://www.youtube.com/channel/lUCrGy5AA1QHQ5x5uMIcjO6d
FACEBOOK PAGE LINK 3 . ﬁ
https://m.facebook.com/sscbankpolice/

INSTAGRAM PROFILE
https://www.instagram.com/deepak.tirthyani/
TELEGRAM CHANNEL

https://t. me/deepaktirthyani

TELEGRAM GROUP
https://t.me/deepaktirthyanigroup
TWITTER ACCOUNT
https://twitter.com/dtirthyani

Deepak Tirthyani
A disfarl
Re. -

WhatApp : 9602514332, Email : support@deepaksir.com

H.O :- F-75, Manglam City, Kalwar Road, Jhotwara, Jaipur (Raj.), Mob. : 9602514332  [20]



| Reasoning/aavifem |

| By Deepak Tirthyani Sir |

7

Moct Test ‘
T —
1. (D) 792 : 364 631 : 203
7+9+2:3+6+4 6+3+1 : 2+0+3
18 : 13 = 5 (diff) 10 : 5= 5 (diff)
623 : 231 923 : 816
6+2+3 : 2+3+1 9+2+3 : 8+1+6
11 : 6 =5 (diff) 14 : 15 =1 (diff)
2. (D)
A B C D
_2/\i-2 -2/\+2 _2/\1-2 _2/\i-2
Y c Z D A E B F
Similarly
E F G H
N WAY) _Wz _W2 =2/\+2
C G D H E 1 F J
3 1 2 3 4 5 6
M ONIKE' Y
E NME N M
5 31 5 3 1
Similarly
1 2 3 4 5 6
F RIT1 DAY
A1 F A1 F
5 3 1 5 3 1

logic is 531531 (Repeatation of odd position)
4. (A)1331:9::2744 ;7
(11)% : (11-2) : : (14)° : (14-2)= 12
50009, 35, 16)=3+4=7x5=35
32 42
Similary
(36, 55, 25)=6+5=11+7 =55
62 52
6.® 3, 4 10, 33, 136, [685
I I I | I
x1+1 x2+2

X343 x4+4  X5+5

SOLUTION

7.B)YGx3)H+(B+3)
15+8=23
(4 x 6) + (4 +6) = 34
24 +10 =34
(4x3)+@+3)=19
12+7=19
(logic - side multiply + side adition)

8. (B) /
#

L
s

9.(C)
Book .

10. (A) ORANGE - 42
Total Apphabats =6 x 7=42 [6 x (6+1)]
PEN =12
Total Alphabats =3 x 4 =12
Similarly
LANGUAGE =8 x9=72=[8 x (8 + 1)]
11. (A)A+Q-M+L

[3x@+1)]

:
.

L

Option (A) represent A is meternal grandfather
of L.
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12.(D) 22.(C) 20 , 20
10 10
40
5x5=25 40 meter they are far from each other.
4 x4=16 23. (D) 8: 50— 20 minute
3x3=9 = 8 : 30 minute
2x2=4 =8 : 30 — 30 minute
1x1=1=55 =8 :00 am
13. (A) Last sunday = 27 may 24. (A)cbadbc|cbadbc|cbadbec
=27+ 74+7+7+7=24 June acdcb
14. (A) 25. (D) Only I follow
15 (B) D7 J7 07 87 V7 XQ
| I I I I I |
+ +5 +3 12 +1 26. (B) 5 6
16. (A) Only II follows - 17 > Q P |7—>P
17.(B) 7x8+3+6-4=17 Tt1—2214:23 a4
Tx8+4+6-3=17 o= T
27. (B) ,
{ | Bhavana  Purnima |
—_ _ — L
7x4+6—3—17 | 15" I8th |
14+6-3=17 | Bhavana
20-3=17 | 1
17=17 21
. . =9+8=17"
18. (C) HAIR (because R is not given the word)
T 28. (A)
S " +3 +3
R ”
PEN GQ:: NIB:?0KE
Q L 9ye L
P =
20.(C) 3 2 6 OKE
35 6 29. (B) Light Pen
(Dice I and I compare and find 3 and 6 are 30.(B) (18=9)+9 x8=24
. . (18 +9)+~9 x 8
comman faces, so 2 is opposite 5)
21. (0) Zx 8=24
N 9
3x8=24
24 =24
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Similarly
x2
[ 1
25 6:2 10 18

x 1 3

2. (D) (441, 15) (632, 16)
4x4-1=15 6x3-2=16
(845, 26) 256 : 21018
8x4-6=26 2x5-6=21018

Not equale
3.(O)P+R+=T-KxOxC

P—R- T—K]|
|

C

P is paternal uncle of 'O'.
4. (B) Wife

Mother

Women’<LfeAmit+

Mother
Grandson”

5. (A) Only III follow.

Dog .

SOLUTION

e

6. (A) Leg (become other three are internal body

organ)
7.(C) +4 +4 +4 +4
|l - ||” = ||H = ||H 72||
IAM, MYQ QWU =UUY YSC
B S | S [
8O p R VAT
NS VZE

L US QXS

Similarly
S UBMIT
S8 4 33845

E XV QF ]
9. (A) only II follow

10. (D) Education odd because rest three options
are professional

11. (C) @ Q

12. (C) 13211, 551-23
(11x12) (23x24 = Not follow pattern)
306-17, 272-16
(17 x 18)  (16x17)

3. She is- gab ri
braveland@mart) tl
Ronak is- tp gb@p)

"t1" code for "and"
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14. (C) 4 because 4 digit is the common.

15. (C) 49 matches must be played to determine then
winner.

16. (B) 17 Jan. - 15 March
60 days (normal year)

17. (B)

140

120}

Friend

The distance of friend's house from the starting
point is 190 km.

5 .
18. (D) 5ﬁm1npast7

180 = 12—1xm—30x7

180 = Exm—210
2
30:E><m mm:@—Si
2 11 11
7:5i
11

19. (C) PHONIC (N is not given the word)
20. (B) abgba|abch a|abcb a|abcb a
cbaa
21.M o9, 54, 6 5, 35, 7
XS NS

54 35
22. (C) Swim : River

S

24. (A) Some artists are creative persons.

25. (D) Only I follow.

26. (D) 5x2+44x3=22
6x7+1x2=44
5x2+8x%x7=66

27.(A) ARBQP
A is sitting left end.

28.(A)D=B>K>A>C

E>K
Only II follows.

29. (B)

23. (B)

30. (C) Inform

=1 Steps &I weN -

1. Youtube W S|

SIS

W a9 Reasoning%ﬁlﬂ:ﬁ ‘JﬂTopicEI'ﬁalTHFﬁ
T 3T TS 99T U WU Tehd & a1 o ToIeteRet Free

2. Search ={ Topic Name by Deepak Sir
Calander by Deepak Sir
Clock by Deepak Sir

Daily Class Pdf download #1= & few

AN aswEe www.deepaksir.com W fafse
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Moc% Test‘ SOLUTION

T —
9.9B)H:Q:D:T : FSBV :: CPXL:?
E® 2[5 Ta [3 |=32=09
- II{ QI D T lf S BYV
=121 |1 ]2 [=2=4 -2 | | ‘
-2
9=3 502 |=2°=4 +2
14 [14] 2 [ 17 =17 Similarly
IC IT X L JIX R V N
Similarly — (4) + (1)? + (57 2 = | | ‘
16+ 1+25=42 +2
2. (D) 10. @) 79.16=7+9=16
S 59, 14=5+9=14
37,10=3+7=10
s 89, 18=8+9=17
11. (D) Niece
3.(0) 5 30 40 sameas§ 72 88 K4M9N405L
54(5+1) 8X(8+1) O+\
5%(5+3) 8x(8+3) ‘
.
K
12. (B) _
5.(C) ) Arun
40 m

E
Option (C) can not be definitely true.
6.(B)3,5, 14,2 S
7.(D) RELATION (E is not given the word) He 90 m for from intial point
. (A) 62 13. (C) 5 Jan. 2017
S OF P T ALLS G HT=# 154041644 =220
1|9+15+é+20 60 20+ J+12+|12 1|8+ (L— Lﬁ' L +20 7

Remaining day Sunday
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14. (B) Rain (Sky is colour - blue, becouse - blue is
called rain)
15. (D)
A

B C
L
MD
G
H
F
I K 1 E

=AHKI, AKLE AAJE, AFGM, AEGD, AEAC, AAFB
Total Traingle is= 7
16. (A) Only III follow.

ol

70 g 27 64, 125, 216, 343,
? 3 £ 5 6 T 8
Logic - cube
18. (O)
=17 122|377
+6[ 23 43 :|+6
L I e Rl s N
16| ? |36
+1
Similarly = |0 ?=21
22 28 !

19. (C) 22 (144) 34 =34 - 22 =12, (12)* = 144
and 140 (225) 155 = 155 - 140 =15, (15)>= 225
Similarly,

67(2)90 = 90 — 67 = 23, (23)* = 529

20. (D) Grand doughter

(-) mother
‘ mother
)
‘ mother Raju’
Women -

1
21.(0)Q=24,A—>40kg Cis 5 of A=20kg
Qweight =80kg
228 WHKP:YLQX

S possible weight is= 10kg

+2L | | |
+4!

+6
+8
Similarly
MF R J:
+2L |
+4]

R

07
|

—

+6

+8

23. (D) 937 : 19 :: 468 : ?
9+3+7=19 4+6+8=18
4.0

JTHYV

LI
+2 +2
) —
[ ]
o ERC
I [
+2 +2

25. (D) 157
(other option are divisible except 157)

26. (A) +5 +10 +15 +20
| Il Il Il |
48, 35, 52, 40, 60, 50, 72, 65, 88, 2, 185

| I I I |
i 8 2 +16

=2
BKD

<

N

w/
s
o
s

Q

27. (D) Q=——R" S

P" T
Sis Aunt of T.
28.(A)B>A>E>C>D
B is tallest among them.

29.
(C)HISTORY

+1‘ +2‘ +3| +4l +5| +6 +7‘

9 11 22 24 2024 32
Similarly

CAN AL
+1‘ +2 +3 +4’ +5
4 3 17 5 17
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120 Similarly
30. (B) 45(60)75,=45+75= 7260 -
49(C)63, =49 + 63 = - 56

168
78(84)90, = 78 + 90 = — = 84
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—

1. (D) 'Bird' is live 'Nest'
and 'King' is live 'Palace’

2. D) N-28 V=44
14 x 2 =128 22x2=44
Similarly
DI A MO

(4+9+ 1+ 13+15+14+4)x2
=60 x2=120
3.(A) 19, 46, 100
(I | R

x2+8 x2+8
Similarly

13, 34, 76
L |
13x2+8  34x2+8

4. (B) All conclusion follow

Eggs
\

5.(C)

5+4+8+2=19

6. (O ﬁ
<O
-

SOLUTION

G=14
7x2=14

7.(A) 49 +2 +2 +2
[ 1 [ 1 [ ] [ ]
KPT UFW BYD, CXE

Other three are follow the same pattern except (A)

8. (C)

UJo ol
¢ ¢
o of
9.(A) 109 114 139

(I |
5 45
Similarly
313 318 343
(I |
5 45
10. D) 242=2+2=4
363=3+3=6
484=4+4=8
101 =1+ 1 =2 (O is replaced by 2)

11.(0)

;s 21"
|
; {1 ]

Sudhir Sudhir
I |
19"

Total boy in row=21+19-1=39
12. (C) Feeble is called Weak.
Gigantic is called Big.

13.(A)39, 121, 245, 739, 1481, 4447

LI JL_JL_ 1l
3HE 3+ 3 }3HE 3+

+2 2 +2 +2
o
14. (B) E\ll Gﬁ, KP, MN

|
2

?7=1IR

-2 2 2
15. (D)
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16. (B) 4

16 10

l,,"“North-East
i’

17. (B)
31, 44, 58, 73. 89,106

I [l [ I —
13 +14 15 116 117

18. (D) Neither (I) Nor (IT)

Qabii—>4{ L)

Laptop
19. (D)

M

;\%q\

&
N
&, Grand father

lSon

Boy . Deepak
Cousion cepa
20. (O) WS M
Opposite — D UY
N
D [7J=U
21.(C) 417 768
1+7=4x2=8 6+8=7%x2=14
537 972
3+7=5x2=10 2+7=(9x1)=9

22. (C) Odd number pair is - 3 -2

except (C) other option I* digit smaller I digit.

23.(C)

| By Deepak Tirthyani Sir |
24 DO TRAINS FLIGHT
+2] +4| +2| +4) +2| +4 +2| +4| +2| +4| +2| +4
VVCMPW P J X
Similarly
B O K1 NG
2| +4 +2‘ +4] +2 +4‘ 2
DS Q O KR 1
25.(B) 44-6+4+171 x19=29
=44 -6 x4+171+19=29
=44-24+9=29
=20+9=29
=29=29
26. (A) 2123 — 161
2+1+2+3=1+6+1=8
3217 — 148
3+2+1+7=1+4+8=13
8123 — 293
8§+1+2+3 =2+ 9 + 3=14
2687 — 672
2+6+8+7=23, 6+7+2=15
27.(A) 19:367::7:7
19 : (19° + 6)
Similarly
21 : 447
21: (212 +6
28. (A) 1 1
HOP: : PHO .  TWO: |OTW
|
29. (A)
\/ o
] ™
30. (A)
iKailash
TSourabh

Kailash facing is South direction.
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